EXIST. CURVE EX_RAMP_R2 EXIST. CURVE EX_RAMP_R3 EXIST. CURVE EX_RAMP_R4 EXIST. CURVE EX_RAMP_F21 PROP. CURVE PR_RAMP_F2-1 PROP. CURVE PR_RAMP_F-1

PI STA. = 619+66.20 PI STA. = 628+27.29 PI STA. = 632+51.28 N PI STA. = 208+79.34 Pl STA. = 1208+54.36 PI STA. = 204+10.01
A = 89° 54° 0T (RT) A= 26° 59 517 (LT A= 68° 06" 297 (RT) MATCHLINE "B’ A= 84° 57 31 (RT) N: 1,837,091.0196 N: 1,837,410.4754
D = 6°59 14" D = 13° 01’ 18" D = 24° 22’ 52" CEE SHEET 4 OF 5 D = 24° 54’ 40" E: 1,188,791.6419 E: 1,188,727.2722
R = 820.00 R = 440.00’ R = 235.00/ R = 230.00/ A = 83° 46° 10" (RT) A= 2°23 107 LD
T - 818.60' T = 105.62' T - 158.83 FOR CONTINUATION T = 210,60’ D = 27° 56° 57 D = 0° 42" 58"
L = 1,286.65° L = 207.32' L = 279.35 TXIST. CURvE T 7T L = 341.05 R = 205.00° R = 8,000.00°
E = 338.66 E = 12,50 E = 48.64 EX_RAMP_R2 / [ E - 8186 T = 183.84' T = 166.61'
e = e = e = / | £ EX. G LINE € e L = 299.72' L = 333.16"
= = = / / | = = . = .
TR = _____ TR, = _____ TR = _____ P.T. ] TR, = _____ E = 70.36' E = LT3
S.E. RUN = _____ S.E.RUN = _____ S.E. RUN = _____ 624+34.25 // /'/ / P.T. 205+76.57 S.E.RUN = _____ e = 6.0% e = NC.
P.C. STA. = B11+47.60 P.C. STA. = 627+21.67 P.C. STA. = 630+92.45 P.T. EXIST. CURVE [0, P.C. STA. = 206+68.74 T.R. = N/A T.R. = N/A
P.T. STA. = 624+34.25 P.T. STA. = 629+28,99 P.T. STA. = 633+71.80 314+50.00 EX-RAMP-DL | // i P.O.T. 2205476.57 P.T. STA. = 210+09.79 S.E. RUN = 45.76' S.E. RUN = N/A
DS = 45 MPH DS = 25 MPH DS = 25 MPH EX. B RAMP R /7/ y el . DS = 25 MPH P.C. STA = 1206+70.53 P.C. STA = 202+43.41
Iy /// N: 1,837,097.0463 N: 1,837.243.8818
EX. B RAMP D, [1 1] E: 1.188,975.4361 E: 1.188,729.2986
EXIST. CQRVE EX_RAMP_D11 EXIST. CEJRVE EX_RAMP_D1 \ 1 1 P.0.T. 1212+41.68 P.T. STA = 1209+70.25 P.T. STA = 205+76.57
PI STA. = 318+66.47 PL STA, = 310+75.70 - < A N: 1,837,274.1593 N: 1,837,576.8401
A= 477 57 107 D) 4= 44% 557 027 (RT) e < /[, PROR. CURVE E: 1,188,775.6445 E: 1,188,718.3316
D - 13° 19 29~ D - 50 40 2o 627+21.67 /% P.0.T. / / PRI RAMP F-1 \ DS = 25 MPH DS = 50 MPH
R = 430.00’ R = 1,010.00’ 314+50.00 M /
T - 191.24" T = 417.50' /59// & ‘
N , B ) EXIST. CURVE i
L = 359.88 L = 791.80 EX_RAMP_R3 /7/ PR‘%_ RAMP F \ PROP. B DBNE EXIST. CURVE EX_RAMP_Al EXIST. CURVE EX_RAMP_A2
E = 40.61 E = 82.89 P.C. //’/ ) \ P.C. 202+43.41 P.C. STA = 0+00.00 PL STA. = 411452.65 Pl STA. = 414+46.95
e e - 316+75.23 // / / Hl " N: 1,837,366.2266 A= 114° 21 467 (RT) - 18° 58' 227 RT)
Re= o Reo= s -T. | P.T. +70. E: 1,188,655.1794 D = 19° 03’ 38" D = 5° 58 06"
SE.RUN = _____ SE. RUN = _____ 629+28.99 / EXIST. CURVE £/pT DAOO 00 B 1209+70.25 © . , : )
/7 EXS TS8R ol P.T. STA = 3+33.53 R = 300.60 R = 960.00
P.C. STA. = 316+75.23 P.C. STA. = 306+58.20 /' - - /// / | N: 1,837,033.3591 T = 466.11" T = 160.41"
P.T. STA. = 320+35.11 P.T. STA. = 314+50.00 / EX. B RAMP D2 Ty ~ E: 1,188,634.1312 L = 600.00" L - 317.89"
DS = 20 MPH DS = 45 MPH 1]/ /// ‘ E = 254.03 E o= 13.31
/ EXIST. CURVE 1oL | 6 - o -
/ EX_RAMP_DI11 Iy 1] TR, - TR, -
o / PROP. CURVE PR RAMP F2-1 oo oo
NOTES: P.C. /(N\‘j P.T. EX. ¢ LINE D //// //// DBNE | S.E. RUN = _____ S.E. RUN = _____
T.R. = TANGENT RUNOUT 630+92.45 | 320+35.11 1/ '/ ) P.C. STA. = 406+86.54 P.C. STA. = 412+86.54
S.E. RUN = SUPERELEVATION RUNOFF S I vy ey % P.T. STA. = 412+86.54 P.T. STA. = 416+04.43
S.A. (SUPERELEVATION OBTAINED) IS THE SUM OF T.R. AND S.E. RUN » I @ v/ /7/ 5 DS = 25 MPH DS = 40 MPH
S.R. (SUPERELEVATION REMOVED) IS THE SUM OF TR. AND S.E. RUN . _ = / ‘ //// //’/ \ P.C. PR. B RAWP F2
EX_RAMP_R4 / 1m //’/ i/’/p_o_'r_ 3+33.53 5 1206+70.53 B P.0.T. 1200+00.00
- / 5 EX. ¢ 103RD ST I ~ N ., 103RD S{\STA 35+94.22
PO, .T. N / e BT TRP
9400.00 633+71.80 lin //// //,// F \ L | 1205 L L N 88° 454 42" W | ,205/ -
. X 90°12/28" é// (g// (| 88599 PROP RAMF*I-F§FA:—“
640+88.85 — » o \/ > EXIST. RAMP—H2 7~J8 2%*‘6&06 z EXIST. N 88° 17,21 E Y N i - B
AMP—B—STA. 5000000 = — |\ —— ——F+——— 7~ /" STA. 15+81.95| 25 N RD D ST STA. 26+78.98 e
~ S 0 A B S S ¢ S POT. 040000 N
EXIST. 103RD ST, STA. 18+94.79 00 N I 01 T B - S —% %R0 ST v o A Ll8s.rq32ze  ~P.O.T. 0+00.00 -
N 88° 17 217 E 115 7 [T U el RN o J__l‘g}z 000.49 — — = 125 L P.0. T 36F56.74
o L@,;—_#Qi;'—"—' — & EXIST. RAMP p2_sTAl / — SHA 2646608 — = o T S % N gre 12 33 E j
— =X T T g 322%62.85 = EXIST o 2o o IR Dl . )
CP 824 B — P 4L — — — — — 88°6/27" {/ 103RD ST STA. 1@*{6 86 /7/ N 1° 59" 20" W 90016/41/ P.T. // - P.T. P.0.T. 127+58 51
: : S 88° 41’ 55" E = —— - S 0° 10" 53" W = / /7 EXIST. CURVE | | 15+38.47 123+44.51 103RD ST STA 35+76.66
' ' Sob | T = T~ 500#3?5% o | P.0.T. 2+61.3;1 Y EX_RAMP_H22 10 P
P.0.T. PC. \\ . ‘ N R ©
400+00.00 406+86.54 =% IST. CURVE
. EXIST. CURVE
WEAMP-BL B DB4 EX_RAMP_H2
N P P.C.
D\ 120+98.94
N AN P.0.T. 2481.40
EXIST. CURVE \ EXIST. CURVE EX_RAMP_Bl  EXIST. CURVE EX_RAMP_H2L EXIST. CURVE EX_RAMP_H22
EX_RAMP_Al \ PI STA. = 505+03.92 PI STA. = 13459.16 PI STA. = 14494.31
\ A = 46° 24" 157 (RT) A= 44° 43 077 (LT) A= 8° 51" 01”7 (LT)
PROP. B DBSW \ P.C.C. D = 6° 00" 00" D = 23° 17" 27" D = 10° 00’ 00"
P.0.T. STA = 0+00.00 \ XTI CURVE 14+49.97 R = 954.93 R = 246.00" R = 572.96’
N: 1,836,679.0931  EX. B RAMP A -ENES T = 409.33 T = 10119 T = 4434
E: 1,188,011.6396 ST CURVE L = 773.40° L = 192.00° L = 88.50'
P.0.T. STA = 2+61.34 : E = 84.03 E = 20.00' E= L7
N: 1,836,936.3158 - & TAMP B EX-RAMP_H21 e - 6= _____ e =
E: 1,188,057.8362 P.C. TR, = _____ TR, = _____ TR, = _____
P.C.C. 12+57.97 S.E.RUN = _____ S.E. RUN = _____ S.E. RUN =
412+86.54 EX. B RAMP H2 P.C. STA. = 500+94.59 P.C. STA. = 12457.97 P.C. STA. = 14+49.97
o~ P.T. STA. = 508+67.99 P.T. STA. = 14+49.97 P.T. STA. = 15+38.47
DS = 40 MPH - -
= EYIST. CURVE DS = 20 MPH DS = 20 MPH
5 EX_RAMP_A2
o EXIST. CURVE EX_LINE_C2  EXIST. CURVE EX_LINE_D2 EXIST. CURVE EX_RAMP_HL  EXIST. CURVE EX_RAMP_H2
10+00.00 PI STA. = 63+75.49 PI STA. = 62+39.39 PI STA. = 108+42.46 PI STA. = 122+24.63
) A= 40° 13187 (L) A= 49° 35 537 (LT A = 15° 417 037 (RT) A = 30° 06° 00 (RT)
, D = 1° 59 47" D = 1°59 57" D = 4° 00’ 00" D = 12° 15° 25"
EX. B R = 2,870.00’ R = 2,866.00’ R = 1,432.39 R = 467.46°
EX. B RAMP A — , , ’
KEYMAP {3 4 RAMP™ H T = 1,050.89" Tz 1,324,202 T = 197.28 T = 12569
43X Y, L = 2,014.75 L = 2,480.95' L = 392.10/ L = 245.58
« / P PROP. B DBSE PROP. B DBA4 E - 186.35 E - 29114’ E = 13.52 E = 16.60’
04 P.T
PR 0/9 200 s -l P.C. STA = 0+00.00 P.C. STA = 0+00.00 ¢ - _____ e = _____ e = e =
% e (j/l/ YA H0+37.28 N: 1,836,954.7483 N: 1,836,969.5385 TR, - _____ TR - TR = TR = _____
BOWMAN. BARRETT & ASSOCIATES INC. 29 ;Cf/ S N E: 1,188,738.9109 E: 1,189,026.0087 SE. RUN - _____ S.E. RUN = _____ S.E. RUN = _____ S.E. RUN = _____
" CONSULTING ENGINEERS M 0n 4GS BTl S URvE PuT. STA = 3+31.37 P.T. STA = 248140  p.c. STA. = 53+24.60 P.C. STA. = 49+15.16 P.C. STA. = 106+45.18 P.C. STA. = 120+98.94
Chicago, Iliinois ||® 4»/0 s - - N: 1,836,312.6343 N: 1,836.870.7042 p 7. STA. = 73+39.35 P.T. STA. = 73+96.12 P.T. STA. = 110+37.28 P.T. STA. = 123+44.51
312.228.0100 Uz E: 1,188,036.9241 E: 1,188,762.5408 ps - 55 MPH DS = 55 MPH DS = 50 MPH DS = 20 MPH
www.bbandainc.com
FILE NAME - USER NAME = defoult DESIGNED - J6 REVISED - ’;?'IAE] SECTION COUNTY STHOETEAI!-S ST‘%%T
SFILELS DRAWN - JG REVISED - STATE OF ILLINOIS ALIGNMENT, TIES, AND BENCHMARKS 94 2012-060-BR COOK 285 | 28
PLOT SCALE = $SCALE$ CHECKED - oc REVISED - DEPARTMENT OF TRANSPORTATION CONTRACT NO. 60V6l1
PLOT DATE = 12/7/2012 DATE - 11/08/2012 REVISED - SCALE: 1''=100" ‘ SHEET NO. 2 OF 6 SHEETS ‘ STA. N/A TO STA. N/A [ILLINOISFED. AID PROJECT

S:\18072\@5_CADD\DI6@VE] Sheets\DIE@BV6El-sht-atb@2.dgn





